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Questions
Q1.

Answer the question with a cross in the box you think is correct <. if you change your mind
about an answer, put a line through the box B4 and then mark your new answer with a cross .

Calculate
26 +37 + 14
49 67 T 79
] ] L] ]
(Total for question = 1 mark)
Q2.
Calculate
3408 x 16

You must show your working.

(Total for question = 2 marks)



Q3.

(a) Measure the size of angle x

(b) AB is a straight line.

Work out the size of angle y

425




(c) Draw a diameter on the circle below.

(d) Write the word that describes angle s

(Total for question = 4 marks)



Q4.

Here is a distance chart.
All distances are given in kilometres.

New Town
42 | Greenville
230 249 Sugar Top
212 | 230 60 Sun City

191 210 122 69 Water Bay

W
oo

224 243 24 96 Bridge Town

Itis 42 km from New Town to Greenville.

(a) How far is it from Greenville to Sugar Top?

(b) Yusuf drives from Sun City to New Town.

He stops after 60 km to get fuel.
How much further does he have to travel?

(Total for question = 3 marks)



Q5.

Esme writes this number sequence.

1, 4, 7, 10, 13,

(a) What is the term to term rule for Esme's number sequence?

(b) The nth term of Esme's number sequence is 3n — 2
What will the 15™ term be?

(Total for question = 2 marks)

Q6.

Answer the question with a cross in the box you think is correct X i you change your mind
about an answer, put a line through the box 24 and then mark your new answer with a cross X .

Calculate

W | 9

of 1650

550 825 1100 2475

(Total for question = 1 mark)



Q7.

Jess did a survey of animals registered at two wildlife parks.

She presented her results in these two pie charts.

Leopard '
Giraffe 5 Tacn
[ Lion ]
Giraffe
Monkey Monkey
Sunny Hills Wildlife Park Long Ridge Wildlife Park
120 animals 240 animals

(a) Jess says

"There are more lions at Sunny Hills Wildlife Park than there
are at Long Ridge Wildlife Park."

Is Jess correct?

Yes No

Explain how you know.

there are giraffes at Long Ridge Wildlife Park.

3 of the animals at Long Ridge Wildlife Park are monkeys. There are the same number of leopards as

(b) How many giraffes are there at Long Ridge Wildlife Park? You must show your working.

giraffes

(Total for question = 5 marks)



Q8.

Calculate
2536 x 23

You must show your working.

(Total for question = 2 marks)

Q9. Calculate
375+ 4

You must show your working.

(Total for question = 2 marks)

Q10.
Answer the question with a cross in the box you think is correct . i you change your mind
about an answer, put a line through the box & and then mark your new answer with a cross .

Calculate

455+ 2.71

1.84 2.24 6.126 7.26

] ] | ]

(Total for question = 1 mark)



Q11.

Answer the question with a cross in the box you think is correct . If you change your mind
about an answer, put a line through the box 24 and then mark your new answer with a cross X .

Calculate
40% of 180
18 45 3. 108
] ] ] ]
(Total for question = 1 mark)
Q12.

Answer the question with a cross in the box you think is correct X, if you change your mind
about an answer, put a line through the box B and then mark your new answer with a cross .

Calculate

43.4 - 2.03

23.1 41.37 41.43 45.43

(Total for question = 1 mark)



Q13.

Answer the question with a cross in the box you think is correct X i you change your mind
about an answer, put a line through the box 2& and then mark your new answer with a cross .

Calculate
4a+3b-c

whena=2,b=3,c=7

N

10 68 75
O ] O O

(Total for question = 1 mark)

Q14.

Expand and simplify
2 (x—3y)+3(x+3y)

(b) Solve

3a-5=4

(Total for question = 3 marks)



Q15.

Calculate

1 3
(8) e

2 4

(Total for question = 3 marks)



Q16.

Matilda is making face coverings.
Each face covering requires 3 layers of fabric.

Each layer requires a rectangle of fabric 20 cm x 15 cm.

1

Fabric comes in 1 m x 2 m sheets.
Matilda wants to make 20 face coverings.
How many sheets of fabric will she need?

You must show all your working.

........................................................... sheets

(Total for question = 3 marks)

Q17.

Answer the question with a cross in the box you think is correct . if you change your mind
about an answer, put aline through the box B and then mark your new answer with a cross X.

Choose the word that can be used to describe the number

16

Odd Prime Cube Square
[ [ [ [

(Total for question = 1 mark)



Q18.

Circle all of the square numbers.

9

L]
N

140

Q19.

Complete the boxes to make these fractions equivalent.

DN
"

(a)

(b) =T =

81

101

50

(Total for question = 2 marks)

(Total for question = 2 marks)



Q20.

Dion's class collected data about whether they go straight home from school or stay for the after-school
club.

There are 27 students in Dion's class.
14 are girls.

8 boys go straight home.

7 girls go to the after-school club.

(a) Insert the given information into the shaded sections of this table.

Straight home After-school club Total
Girls
Boys
Total 27

(b) Complete the table.

(Total for question = 3 marks)



Q21.

Caleb made a tally chart of his sock colours and used it to create a bar chart.
He spilled a drink on the tally chart and part of it now cannot be read.

Caleb had 25 pairs of socks.

Sock colour Tally Total
Black C)
Blue Q

Complete the tally chart with the missing information from the bar chart below.

14

12

10

Number of 8
pairs of socks g

Black Blue

Sock colours

(Total for question = 2 marks)



Q22.

This tally chart shows the favourite colours of the students in Jai's class.

Colour Tally Total
Red L] 4
vellow | W HH

Green 3
Blue 6
Purple

(a) Complete the tally chart.
(2)

(b) Use the information from the tally chart to complete this pie chart.

Favourite colours

3)

(Total for question = 5 marks)



Q23.

Mr Jones asked his students what their favourite sport was. He displayed their answers in this tally chart.

_— Tally Total
Swimming | 17|

Football | | | 3
Running | _H{7| |

Hockey i

(a) Complete the tally chart for this data.

(b) Construct a bar chart to represent this data.



Bar chart of favourite sports

3

(Total for question = 4 marks)



Q24.

Zain left his house at 07:25
It took him 5 minutes to walk to the bus stop.

He waited 12 minutes for the bus to arrive.

The bus journey took 19 minutes to get to school.

Zain's school day begins at 08:00

Did Zain arrive at school on time?

Yes

Explain how you know.

(Total for question = 2 marks)



Q25.

Answer the question with a cross in the box you think is correct X i you change your mind
about an answer, put a line through the box 2& and then mark your new answer with a cross X .

Expand this expression

4 (x + 3y)

4x + 3y 4x + Ty 12x +y 4x + 12y

] ] [ [

(Total for question = 1 mark)
Q26. Here is a triangular prism.

(a) How many faces does it have?

(Total for question = 3 marks)



Q27.

(a) List all of the factors of 48

(b) What is the highest common factor (HCF) of 48 and 18?

(c) Write 48 as the product of its prime factors.

(Total for question = 4 marks)

Q28.

What is 32% of 150?

(Total for question = 2 marks)



Q29.

(a) The nth term of a number sequence is 4n — 3

Find the 20th term of the sequence.

(b) Expand and simplify

2(3a + b) + 3(a — 3h)

(c) Solve

7y —-5=23

(Total for question = 4 marks)



Q30.

Answer the question with a cross in the box you think is correct . if you change your mind
about an answer, put a line through the box 2& and then mark your new answer with a cross .

Find the value of the expression

8a + 5b
whena=4andb=6
62 88 114 140
] ] ] ]

(Total for question = 1 mark)

Q31.

Answer the question with a cross in the box you think is correct X i you change your mind
about an answer, put a line through the box 24 and then mark your new answer with a cross X .

Work out

3P+ (17-8)x4-3

[ O O |

(Total for question = 1 mark)



Q32.

The pie chart shows the sock colour of the 24 students in Class 6.

Sock colours

Orange

Blue

Green

Red

Yellow

Red socks, yellow socks and orange socks were each worn by the same number of students.

How many students wore orange socks?

(Total for question = 2 marks)

Q33.
Answer the question with a cross in the box you think is correct 4. i you change your mind
about an answer, put a line through the box 24 and then mark your new answer with a cross .

Lexie and Paul have $420
They share it in the ratio 4:3
How much does Lexie receive?

$60 $105 $180 $240
[ [ | |

(Total for question = 1 mark)



Q34.

Here are the numbers of hours of music played by a radio station on each day of last week.
15 10 14 6 8 9 15

(a) What is the median number of hours?

(b) What is the mean number of hours?

(Total for question = 2 marks)

Q35.

Answer the question with a cross in the box you think is correct 4. i you change your mind
about an answer, put a line through the box B and then mark your new answer with a cross X.

How many lines of symmetry does this regular hexagon have?

(Total for question = 1 mark)



Q36.

The students in a class completed a questionnaire of their favourite sports.

They presented their results in this pictogram.

Pictogram of favourite sports

Cricket
Soccer
Hockey
Baseball

Basketball

@ ¢

00000
0“0
- 0@

d

Q i

How many students chose basketball?

(Total for question = 1 mark)



Q37.

Sanjay needed some new football kit.

He bought
a football football boots football socks
LU
$4.69 $21.57 $3.28

(a) How much did Sanjay spend altogether?

(b) Sanjay had $30 to spend on the football kit.
How much change should he receive?

(Total for question = 2 marks)



Q38.

Anja and Jai are making some bread.
Anja has 1.25 kg of flour.
Jai has 850 g of flour.

How much flour do they have in total?

Give your answer in kilograms.

You must show your working.

(Total for question = 2 marks)

Q39.

Answer the question with a cross in the box you think is correct 4. if you change your mind
about an answer, put a line through the box 24 and then mark your new answer with a cross .

Alice has $20
She buys a book for $4.50 and a pen for $3.99

How much money does Alice have left?

$8.49 $11.51 $12.51 $16.01
[ O | |
A B C D

(Total for question = 1 mark)



Q40.

Noor needs to make 30 cookies for the school bake sale.

She is going to use the following recipe.

Cookie Recipe

100 g sugar
200g butter
250g flour

Makes 12 cookies

Noor already has:
200 g of sugar
500 g of butter
500 g of flour

How much more of each ingredient does she require?

SUGAT i g
BULLET . g
FIOUN oo, g

(Total for question = 3 marks)



Q41.

Answer the question with a cross in the box you think is correct . if you change your mind
about an answer, put a line through the box & and then mark your new answer with a cross .

In a sports shop tennis balls cost $0.66 each.

How much would 3 tennis balls cost?

$0.22 $0.99 $1.32 $1.98
[ [ [ [

(Total for question = 1 mark)

Q42.

whn

(a) Circle the fractions that are less than 8

11
16

Bl w

1
4

to | —

(b) Complete these equivalent fractions.

(1)

| W

LON)
[o—
wn




(c) Calculate

| W
}
L,JI-—-

(d) Calculate

| M
X
| w

(Total for question = 6 marks)



Q43.

Join the equivalent fractions, decimals and percentages.

One has been done for you.

5
10
1 3
2 10
0.75 25%
1
- 40%
4
30% 75%
3.0

(Total for question = 2 marks)



Q44. (A) Here is a regular hexagon. Using correct notation, mark one set of parallel lines on the
hexagon.

(b) Here is a triangle.

What is the name of this type of triangle?

(c) Aline has been drawn through the centre of this circle.

What is the name of this line?



(d) Work out the size of angle x

Q45.

(a) Calculate

(b) Calculate

11
50°
3
X=.
6+3x4

21-(3x5)+3

(Total for question = 4 marks)

(Total for question = 2 marks)



Q46.

Points P and Q are plotted on the coordinate grid.

YV A
5

() Plot point S (3, 1)

(b) Point R completes the rectangle PQRS.
What are the coordinates of point R?

(Total for question = 2 marks)



Q47.

240 students were asked how they travelled to school.
25% came by car.
30% came by bus.

The remaining students walked to school.

Janine says

'more than 100 students walked to school'
Is Janine correct?

You must show your working.

(Total for question = 3 marks)



Q48.

(a) Reflect the shape on the grid in the mirror line.

mirror line

(1)

(b) What is the volume of this cuboid?

Diagram NOT

i accurately drawn

4em

6cm

(2)

(Total for question = 3 marks)



Q49.

Reflect this shape in the mirror line.

Mirror line

Q50.

(a) Round 36.57 to the nearest whole number.

(b) Here are four numbers.

3.05 3.5 5.3
Put these numbers in order, starting with the smallest.

smallest

(Total for question = 1 mark)

(1)

0.53

(1)

(Total for question = 2 marks)



Q51.

Shade four squares to make a pattern which is symmetrical about the mirror line.

MIrror

(Total for question = 1 mark)

Q52.

Answer the question with a cross in the box you think is correct 4. i you change your mind
about an answer, put a line through the box & and then mark your new answer with a cross .

Simplify the expression

2X+3y - x -4y

| QW]

xX—-y 3x+ 7y Oxy

(Total for question = 1 mark)



Q53.

Answer the question with a cross in the box you think is correct X i you change your mind
about an answer, put a line through the box 2& and then mark your new answer with a cross .

Simplify this expression

3a+4b-3b-a

2a+b 2a-T7b 3ab 4a +7b

| N [ [

(Total for question = 1 mark)

Q54.

(a) Simplify

3a—-4b+a+2b-2a

(b) Expand and simplify

4(2x —y) + 3(x + 3y)



(c) Solve the equation

v +3=19

(Total for question = 4 marks)

Q55.

Jon left work at 16:45

It took him 10 minutes to walk to the train station.

He waited 7 minutes for the train to leave the station.

The train journey took 18 minutes.

Jon then walked for 5 minutes from the train station to his home.

What time did Jon arrive home?

(Total for question = 2 marks)



Q56.

Answer the question with a cross in the box you think is correct . it you change your mind
about an answer, put a line through the box 24 and then mark your new answer with a cross .

What 3D shape would be made from this net?

Cube Cuboid Cylinder Pyramid

[ | O [

(Total for question = 1 mark)



Q57.

R and S are two points plotted on this grid.

Vv

(a) What are the coordinates of point R?

(b) What are the coordinates of point S?

(Total for question = 2 marks)



Q58.

Answer the question with a cross in the box you think is correct <. if you change your mind
about an answer, put a line through the box 24 and then mark your new answer with a cross .

What does the 7 represent in this number?

62.37

Ones Tens Hundredths Tenths

] ] [ [

(Total for question = 1 mark)

Q59.

Answer the question with a cross in the box you think is correct . if you change your mind
about an answer, put a line through the box 24 and then mark your new answer with a cross .

U @

What fraction of these counters have been shaded?

@ ® o
e ® o
o ® O

5 5 7 7
7 12 12 5
O O O O

(Total for question = 1 mark)



Q60.

Answer the question with a cross in the box you think is correct . if you change your mind
about an answer, put a line through the box & and then mark your new answer with a cross X.

What is 127 489 rounded to the nearest thousand?

127000 127400 127500 128000

L] ] L] L]

(Total for question = 1 mark)

Q61.

In a school the ratio of children to adults is 5 : 2
There are 112 adults in the schoaol.

How many children are there in the school?

(Total for question = 2 marks)



Q62.Answer the question with a cross in the box you think is correct <. if you change your mind
about an answer, put a line through the box 24 and then mark your new answer with a cross .

What is 3000 m equivalent to?

0.3km 3km 30km 300km

O ] [l O

(Total for question = 1 mark)

Q63. Answer the question with a cross in the box you think is correct X . if you change your
mind about an answer, put aline through the box B¢ and then mark your new answer with a
cross X . This shape is drawn on centimetre square paper.

What is the area of this shape?

) 2 ) 7
18cm” 19cm” 20cm” 22cm”

| [ N N

(Total for question = 1 mark)



Q64.

Answer the question with a cross in the box you think is correct <. if you change your mind
about an answer, put a line through the box 24 and then mark your new answer with a cross .

What is the mean of this set of numbers?

10 7 6

Q65.

Saira's English group did a spelling test.
Here are their results.
13 9 10

(a) What is the median of these results?

(b) What is the mean of these results?

10

13

5 14 4

8 10
N ]

(Total for question = 1 mark)

12 7 13

(Total for question = 2 marks)



Q66.

Here are the times, in seconds, that it took some members of a swimming club to complete one length.
25 23 31 28 27 28 25 32 28

(a) What is the median time?

........................................................... seconds

(b) What is the range of these times?

........................................................... seconds

(Total for question = 2 marks)

Q67.

Answer the question with a cross in the box you think is correct 4. if you change your mind
about an answer, put a line through the box 24 and then mark your new answer with a cross .

Here is a number pattern.

The rule is subtract 6

54 48 36 30
What is the missing number?
26 38 42 60
] ] L] L]

(Total for question = 1 mark)



Q68.

Answer the question with a cross in the box you think is correct . if you change your mind
about an answer, put a line through the box & and then mark your new answer with a cross .

The rule for this number sequence is

double the number and subtract 2

14 26 50 08
What is the missing number?
6 8 9 24
L] [l L] L]

(Total for question = 1 mark)



Q69.

Answer the question with a cross in the box you think is correct X i you change your mind
about an answer, put a line through the box 2& and then mark your new answer with a cross X .

What is the name given to this polygon?

Kite Parallelogram Rectangle Trapezium

O [ | ]

(Total for question = 1 mark)



Q70.

Answer the question with a cross in the box you think is correct . if you change your mind
about an answer, put a line through the box 24 and then mark your new answer with a cross .

What is the name of this shape?

Kite Parallelogram Rectangle Rhombus
O [ ] [
A B C D

(Total for question = 1 mark)

Q71.

Answer the question with a cross in the box you think is correct 4. i you change your mind
about an answer, put a line through the box 24 and then mark your new answer with a cross .

What is the perimeter of a rectangle which is 8 cm long and 7 cm wide?

15cm 23cm 30cm 56cm
L] L] L] L]

(Total for question = 1 mark)



Q72.

Answer the question with a cross in the box you think is correct . if you change your mind
about an answer, put a line through the box 2& and then mark your new answer with a cross .

What is the perimeter of this shape?

p)
“

cm

N ol
L
= 5
\'E ol
4cm
L]
5
ol
[ 1] []
Ocm
25c¢m 26cm 28cm 30cm
L] L] L] L]

(Total for question = 1 mark)

Q73. Answer the question with a cross in the box you think is correct X i you change your
mind about an answer, put a line through the box B and then mark your new answer with a
cross X . What is the range of these weights?

98g 83g 44g 67g 140g 98g 65g

o0
o
Ul [=]
o0
N
mQ
O
(=)}
Q

08¢

[ [ [ [

(Total for question = 1 mark)



Q74.

Answer the question with a cross in the box you think is correct . if you change your mind
about an answer, put a line through the box 24 and then mark your new answer with a cross .

What is the size of angle x?

Diagram NOT
drawn to scale

i
N
[a}
N
N
.

p—
o
N
O
(]
[e—
n
)

[]
[]
]
[

(Total for question = 1 mark)



Q75.

Answer the question with a cross in the box you think is correct . if you change your mind
about an answer, put a line through the box 2& and then mark your new answer with a cross .

Here is a triangle.

What is the size of angle w?

V)
LU
(o]

63° 137 110° 1

(Total for question = 1 mark)



Q76.

Answer the question with a cross in the box you think is correct . if you change your mind
about an answer, put a line through the box & and then mark your new answer with a cross .

What name is given to the angle marked a?

a

Acute Reflex Right angle Obtuse

[ [ [ ]

(Total for question = 1 mark)



Q77.

Answer the question with a cross in the box you think is correct X i you change your mind
about an answer, put a line through the box & and then mark your new answer with a cross X .

Here is a number line.

What number is the arrow pointing to?

0 6

(Total for question = 1 mark)

Q78.

Answer the question with a cross in the box you think is correct . if you change your mind
about an answer, put a line through the box B and then mark your new answer with a cross X.

Which of these is a prime number?

N
[e—

L]
x [
[

(Total for question = 1 mark)



Q79.

Answer the question with a cross in the box you think is correct . if you change your mind
about an answer, put a line through the box 24 and then mark your new answer with a cross .

Which of these is both a square number and a cube number?

64 125

O
o
(@)

(Total for question = 1 mark)

Q80.

Answer the question with a cross in the box you think is correct X i you change your mind
about an answer, put a line through the box & and then mark your new answer with a cross X .

Which of these is not the net of a cube?

O O [ O

(Total for question = 1 mark)



Q81.

Answer the question with a cross in the box you think is correct <. if you change your mind
about an answer, put a line through the box & and then mark your new answer with a cross .

Work out
171 +5
1 5 4
34— 34— 34— 34—
21 3 21 5
L] ] [] L]
(Total for question = 1 mark)
Q82.

Answer the question with a cross in the box you think is correct X i you change your mind
about an answer, put a line through the box & and then mark your new answer with a cross X .

Work out
2365 + 437

VN
hn

1928 2792 2802 67

(Total for question = 1 mark)



Q83.

(a) What percentage of this shape is shaded?

(b) What is 47% written as a fraction?

(c) Work out 10% of 50

(d) Work out 15% of 180

(Total for question = 4 marks)



Q84.

(a) Complete this table.

2)
Fraction Decimal Percentage
17 17%
100
25%
0.3
P,
(b) Write a fraction equivalent to 10
By o |
10
1)
(c) Calculate
3
i e
8 8
(2)
(d) Calculate
25% of 320
1)

(Total for question = 6 marks)



Q85.

Answer the question with a cross in the box you think is correct <. if you change your mind
about an answer, put a line through the box 2& and then mark your new answer with a cross .

Calculate
ba-2b+c
whena=3,b=6,c=7
8 13 37 44
] L] ] L]

(Total for question = 1 mark)

Q86.

Complete this multiplication table.

X 8 6

18 48

15 30

(Total for question = 2 marks)



Q87.

Here is a number pyramid.

To find the number in each brick add together the two bricks immediately below it.

e.g.
12
7 5
Ak
/N
3 <
Using the same rule, complete this number pyramid.
10

N

(Total for question = 2 marks)



Q88.

(a) Draw a line of symmetry on the regular pentagon.




(b) Here are two identical shapes.

Describe the translation of Shape B onto Shape A.

(Total for question = 3 marks)



Q89.

Answer the question with a cross in the box you think is correct . if you change your mind
about an answer, put a line through the box 2& and then mark your new answer with a cross .

Find 30% of 60

6 18 20 180
[ [ [
A B C D

(Total for question = 1 mark)

Q90.

How many days altogether are there in March, April and May?

(Total for question = 1 mark)



Qo1.

Answer the question with a cross in the box you think is correct . if you change your mind
about an answer, put a line through the box 2& and then mark your new answer with a cross .

In a survey, some students were asked what their favourite colour is.
This pie chart shows the results.
Favourite colours

Black

Red
Purple

Green
Blue

12 students chose red.

How many students were included in the survey?

x>
I
I
xS

(Total for question = 1 mark)

Q92. Saira has 0.75 kg of chocolate.
Andrew has 350 g of chocolate.

1

Janine has 4 kg of chocolate.
How much chocolate do they have altogether?

Give units in your answer.

(Total for question = 2 marks)



Q93.

In a shop paint pallets cost $2.35 and paint brushes cost $0.69

$2.35 $0.69

Sally has $15
She buys 2 pallets and 3 brushes.

How much money should Sally have left?

(Total for question = 2 marks)



Q94.

Match each of the decimals to its equivalent fraction.

One has been done for you.

0.2 1
2
0.3 3
4
0.5 .
5
0.6 1
5
0.75 3,
10

(Total for question = 2 marks)



Q95.

Answer the question with a cross in the box you think is correct . if you change your mind
about an answer, put aline through the box B4 and then mark your new answer with a cross .
This dual bar chart shows how many boys and girls have school dinners each day from Monday to Friday.
70
60 1
50T
40— : B Boys
30~ — [ Girs
20— I

10— — —

O &d
Mon ! Tues I Wed I Thur ! Fni I

Number of students

On which day did the most students have school dinners?

Monday Tuesday Wednesday Thursday
] L] L] ]

(Total for question = 1 mark)



Q6.

Answer the question with a cross in the box you think is correct <. if you change your mind
about an answer, put a line through the box & and then mark your new answer with a cross .

Simplify the expression

AXx+5y+3x -y
7% D 13x 7x = 4y 7x + 4y
L] L] [ [
A B C D

(Total for question = 1 mark)



Qo7.

Here is a triangle inside a square.

(a) Measure the size of the angle marked x

(b) Majed says

Angley is 30°

Is Majed correct? ~ Yes No
Explain why.

(Total for question = 2 marks)



Q9s.

Answer the question with a cross in the box you think is correct . if you change your mind
about an answer, put a line through the box B& and then mark your new answer with a cross .

VA
s

(S

|
n
|
1N
|
(7%}
|
o
|
—_—
Qo
—
[ ]
(98}
FEN
N
k4

Point Q is marked on the coordinate grid.
Point Q is reflected in the x-axis to give point R

What are the coordinates of point R?

(3, 3) (-3, 3) (-3, -3) (3, =3)
O O O ]

(Total for question = 1 mark)



Q99.

Answer the question with a cross in the box you think is correct . if you change your mind
about an answer, put a line through the box 24 and then mark your new answer with a cross .

What is the area of this triangle?

Diagram NOT
accurately drawn

3cm
-
Scm
11 cm? 12em? 22cem? 24cm?

(Total for question = 1 mark)

Q100.

Answer the question with a cross in the box you think is correct . it you change your mind
about an answer, put a line through the box & and then mark your new answer with a cross .

What is 354 rounded to the nearest hundred?

300 350 360 400
[ ] L] [
A B C D

(Total for question = 1 mark)



Mark Scheme

Q1.
Question | Answer Mark
number
C 77 (1)
Q2.
Question |Answer Notes Mark
number
54 528 M1 for a complete and correct 2

method. with NO place value errors
(allow ONE calculation error)

OR

34 080 AND 20 448 seen

NB these can be seen as jottings
from other method

X[ 3000 400 0 8

10| 30000( 4000| O | 80

6| 18000 2400| O | 48

Grids must have NO place value
errors, no more than one
arithmetic error, AND an
intention to add.

Al Dep M1




Q3.

Question |Answer Notes Mark
nhumber
a 125 B1 Accept £ 2° 1
Question |Answer Notes Mark
number
b 138 B1 1
Question |Answer Notes Mark
number
c Diameter drawn B1 1
Accept unambiguous intention to
draw the diameter touching the
circumference
Question |Answer Notes Mark
number
d Reflex Bl 1
Q4.
Question | Answer Notes Mark
number
a 249 B1 (1)
Question | Answer Notes Mark
number
b 152 M1 for 212 - 60 (2)

OR

for 212 unambiguously
identified

A1l cao




Q5.

Question | Answer Notes Mark
number
a Add 3 B1 (1)
Accept +3, we MUST see reference
to ‘add’
Question | Answer Notes Mark
number
b 43 B1 (1)
Q6.
Question | Answer Mark
number
The only correct answer is C 1100 (1)
A 1s not correct because 550 1s 1/3
B 1s not correct because 825 15 =2
D 1s not correct because 2475 15 =2 x3
Q7.
Question Answer Notes Mark
number
a No and correct reason B2 for No AND there are 60 2

lions at both park

If not B2 then B1 for correctly
finding 60 lions at Sunny Hills
or 60 lions at Long Ridge




Question
number

Answer

Notes

Mark

b

50

M1 for correct method to find
number of monkeys at Long
Ridge:

e.g. 240 +3 (=80)

240/3 (=80)

> X 240 (=80)

M1 for full method to find the
number of leopards or giraffes at
Long Ridge:

eg

(240 — (“60™ + <“80™))=2

or

240 — 60" —“80™ (=100)

and <1007 =2

Al Dep M1

Q8.

Question
number

Answer

Notes

Mark

58 328

M1 for a complete method with
NO place value errors (allow one
calculation error)

or 50 720 AND 7 608 seen

X | 2000 [ 500 | 30 | 6

20 | 40000 | 10000 | 600 | 120

3 16000 | 1500 [ 90 | 18

Al Dep cao

(SW]




Qo.

Question
number

Answer

Notes

Mark

93% or 93.75 or 9313

M1 for a correct first step to
solving the division

Eg:

Short division:

9 r1 (with 1 correctly placed
between the 7 and the J)

\
N
N
0.

4| 37 15‘\\,

-
-
-
-
-

Long division

9 seen AND 36 subtracted from 37
AND the 5 brought down alongside
1

- —— - - ——— - ———)

Chunking methods can be used
but must be complete (equal
sized chunks are acceptable)

Al Dep M1

[

Q10.

Question
number

Answer

Mark

D 7.26

(1)




Q11.

Question | Answer Mark
number
The only correct answerisC - 72 (1)
A 1s not correct because 18 1s 10%
B 1s not correct because 45 1s +4
D 1s not correct because 108 1s 60% (180 — 40%)
Q12.
Question | Answer Mark
number
A incorrect alignment 1
B CORRECT ANSWER
IC correct alignment, incorrect subtraction
D added
Q13.
Question | Answer Mark
number
The only correct answerisB - 10 (1)

A 1s not correct because 5 1s (4+2)+(3+3)-7

C 1s not correct because 68 1s (42)+(33)-7

D 1s not correct because 75 1s (42)+(33)




Q14.

Question Answer Notes Mark
number
a 5x + 3y M1 for 2x — 6y or 3x +9y or 2
5x or 3y
Al
Question Answer Notes Mark
number
b 3 B1 1
Q15.
Question | Answer Notes Mark
number
a % o6 Bl = 1
Accept 1%, — etc
a
Question | Answer Notes Mark
number
b E Bl 1
12
Question | Answer Notes Mark
number
c i e Bl 1
10 Teols 22T
5 10

Q16.




Question
number

Answer

Notes

Mark

IALT Scheme:

M1

For a method to find one
relevant area

e.g.

20 x15 (=300)

Or “300” x 3 (=900)

Or “900” x 20 (=18000)
Or 100 x 50 (= 5000)

M1
“18000” = <5000 (=3.6)

Al cao

Ml

100 =20 (= 5)

or 50=+15(=3(3...))

or 20 x 3 (= 60)

or 60 (cm) x 45 (cm) for one
face covering

Ml

1 sheet = 5" x “3” (=15)
or 1 sheet =5 coverings
or 20 =57

or “60” = “15”

Al cao




Alternative answer:

M1

100 +15(=6(6..))

or 50 =20 (= 2(.5))

or 20x 3 (= 60)

or 60 (cm) x 45 (cm) for one
face covering

M1

1 sheet =“6"x “2” (=12)
or 1 sheet =4 coverings
or 20 =47

or “60” = “12”

Alca

Q17.
Question | Answer Mark
number
The only correct answer is D - square (1)
A 15 not correct because 16 1s not an odd number
B 1s not correct because 16 1s not a prime number
C 1s not correct because 16 1s not a cube number
Q18.
Question | Answer Notes Mark
number
0. 25. 36. 81 M1 for at least 1 square number 2

correctly identified (with no more
than 1 incorrect)

Al all 4 correctly identified with
NO incorrect




Q109.

Question | Answer Notes Mark
number
(a) 4 B1 (1)
10
Question | Answer Notes Mark
number
(b) 2 B1 (1)
3
Q20.
Question | Answer Notes Mark
number
a B1 for all 3 terms correct 1
Straghthome | After-school dub Total

7 | [ L\. '

- =)

Tora W
Question | Answer Notes Mark
number

b ' | B2 for fully correct table 2
Straight home After-school dub Total
If not B2 then B1 for at least 2

o ’ 7 | L‘— | | correct unshaded sections

o S| 5113

To | 5 | 72| 2% |




Q21.

Question Answer Notes Mark
number
_— B2 for 5 or 6 correct sections 2
- If not B2 then
= B1 for at least 3 correct sections
Q22.
Question | Answer Notes Mark
number
a Yellow total = 10 B2 for fully correct 2
Green tally (3)
Blue Tally (5 “gated’ and 1) If not B2, then B1 for 2 or 3
Purple total = 1 correct
Question | Answer Notes Mark
number
b B3 - fully correct AND labelled | 3

Red 2 sections shaded
'Yellow 5 sections shaded
Green 1% sections shaded
Blue 3 sections shaded
Purple ¥: section shaded

pie chart

B2 - fully correct sections with
no labels

or

at least 2 correct AND labelled
sections

B1 — 1 correct AND labelled
section

NB: Must see sections drawn

Q23.




Question |Answer Notes Mark
number
a Tally Chart B1 fully correct tally chart 1
Sport Tally Total
swimming | U || =4
footbalt | |l i 3
Running UHN >
Hocay | I U
Question |Answer Notes Mark
number
b Bar Chart B1 Linear Scale (starting at 0) 3
B1 Correct labelling on each axis
ki B1 Correct bar heights
studerts 4 I NB ft their incorrect tally chart
Q24.
Question | Answer Notes Mark
number
No and reason M1 evidence of an (2)

e.g.

mins

* arrives at 8:01
* 36 min journey, only has 35

* will be 1 min late

attempt to add all of 5,
12 and 19 to 7:25

OR

8:01 seen as his arrival
time

A1 No identified (in tick
box or explanation) and
8:01 or acceptable reason

MB: no mark awarded for just
MO ticked




Q25.

Question | Answer Mark
number
The only correct answerisD - 4x+ 12y (1)
A 1s not correct because 4x+3y only multiplied x term
B 1s not correct because 4x+7y multiplies x term but adds y term
C 1s not correct because 12x+y multiplies the numbers and leaves
x+y
Q26.
Question | Answer Notes Mark
number
a 5 Bl 1
Question | Answer Notes Mark
number
b 6 Bl 1
Question | Answer Notes Mark
number
c 9 Bl 1

Q27.




Question |Answer Notes IMark
humber
a 1,2,3,4,6,8,12, 16, 24, 48 B2 for 9 or 10 correct factors 2
with NO incorrect.
If not B2, then B1 for at least 6
correct factors, allow 1
incorrect.
Accept factors in any order
Question |Answer Notes Mark
number
b 6 B1 1
Question |Answer Notes Mark
nhumber
¢ 2X2X2X2X3 Blor2*x3oe 1
Accept sightof 22223
Q2s.
Question Answer Notes Mark
number
48 M1 for a fully correct method 2

e.g.
150 x 0.32 (=48)
15+15+15+1.5+1.5 (=48)
or 150 x32/100 (=48)

Al cao

Q29.




Question |Answer Notes Mark
number
a 77 Bl 1
Question |Answer Notes Mark
number
b 9a — 7b M1 for 6a + 2bor3a—9bor 2
9a or —7b
Al9a—7b or —7b+9a
Question |Answer Notes Mark
number
C 4 B1 1
Q30.
Question | Answer Mark
number
A 62 (1)
Q31.
Question | Answer Mark
number
The only correct answerisC - 42 (1)

A is not correct because -9 = 3> +

B is not correct because 18 =32 +

17 -(8x 4) -3
(17 - 8) x (4 - 3)

D is not correct because 69 = (3> + 17 - 8) x 4 - 3




Q32.

Question | Answer Notes Mark
number
4 M1 2
Blue =6 or Green =6
or Red + Yellow + Orange = 12
or Orange = 1/6 or Red = 1/6
or Yellow =1/6
or24=2-=30r“12”7+3
Al cao
Q33.
Question | Answer Mark
number
D $240 (1)
Q34.
Question Answer Notes Mark
number
a 10 B1 1
Question Answer Notes Mark
number
b 11 B1 1

Q35.




Question | Answer Mark
number
A only identified 1 1
B only identifies symmetry from the edges OR the vertices
C common mcorrect symmetry answer, for all shapes
D CORRECT ANSWER
Q36.
Question | Answer Notes Mark
number
7 B1 (1)
Q37.
Question | Answer Notes Mark
number
a 29.54 B1 (1)
Question | Answer Notes Mark
number
b $0.46 or .46 or 46 c(cents) B1 (1)
Accept ft from part a
Accept any letter or notation after 46
Q3s.
Question | Answer Notes Mark
number
2.1kg B1 correct conversion to (2)

0.85kg or 1250¢

B1 correct answer 2.1kg




Q39.

Question | Answer Mark
number
B $11.51 (1)
Q40.
Question | Answer Notes Mark
number
Sugar  50g M2 (3)
Butter 0g (or left blank) For all three correctly
Flour 125¢g identified required values

(5:250, B:500, F:625)
OR

1 correct final answer
(5:50, B:0, F:125)

If not M2 then:

M1

For SF of 2.5 seen or used
OR

one correctly identified
required value (5:250,
B:500, F:625)

A1l cao

SCB1 if no marks awarded,
award SCB1 for a ‘required
value’ given as a final value

Q41.




Question
number

Answer

Mark

A 0.66+3

B 0.66 x 3/2

C 0.66x2

D CORRECT ANSWER

Q42.
Question | Answer Notes Mark
number
2 ~ AND > Bl 1
Question | Answer Notes Mark
number
b1 6 Bl 1
Question | Answer Notes Mark
number
b1 e.g. B2 for three different equivalent |2
fractions
% 9/12 15/20 oe
or B1 for at least 1 correct pair of
3/1 36/12 15/5 oe fractions
or
3/6 6/12 15/30 oe
or
3/3 12/12 15/15 oe
or
3/2 18/12 15/10 oe
Question | Answer Notes Mark
number
c 8 Bl 1
15




Question | Answer Notes Mark
number
12
Q43.
Question | Answer Notes Mark
number
2
s B2 fully correct
» If not B2, then B1 for one
correct join
Q44.
Question | Answer Notes Mark
number
(a) Correct pair of parallel sides B1 (1)
e.g.
Question | Answer Notes Mark
number
(b) Isosceles B1 (1)




Question | Answer Notes Mark
number
(c) B1 (1)
Diameter
Question | Answer Notes Mark
number
(d) 130 B1 (1)
Q45.
Question Answer Notes Mark
number
a 18 B1 1
Question Answer Notes Mark
number
b 16 B1 1

Q46.




Question | Answer Notes Mark
number
(a) Point S plotted at (3, 1) B1 (1)
8 R
ENCEEEED
i | KD
.i.,’.vi—ﬂlfj' e. i
el e i (IO sl o
———+ 2 ~f:~i‘~—<’ - l
N
T 11 P
Question | Answer Notes Mark
number
(b) (-1, 5) B1 (1)

Q47.




Question
humber

Answer

Notes

Mark

'Yes and 108

M1 for a method to calculate one
percentage

e.g.

240 X 25 + 100(= 60)

or

240 X 30 + 100(=72)

or

240 X 55 + 100(= 132)

M1 for a fully correct method to
find how many students walked
e.g.

240 — (60" + “72°) (= 108)

or

240 -°132’ (=108)

A1l for YES & 108 seen

Alternative method

M1 for a method to find total
percentage travelling by car + bus
eg.

25% + 30% (= 55%)

25+ 30 (=55)

or

for a method to find percentage
who walk

e.g. 100% — *55%’ (= 45%)

M1 for a fully correct method to
find how many students walked
eg.

240 X 45 + 100(= 108)

or

240 — (240 X 55 + 100)'(= 108)

Al for YES & 108 seen




Q48.

Question | Answer Notes Mark
number
a g Bl 1
|
| 1
_— 77.&,,7T, = == 10X
|
Question | Answer Notes Mark
number
b 72 M1 fully correct method 2
eg.
6x4x3 (=72)
ar
“247x3 or “127x6 or “187x4
Al cao
Q49.
Question |Answer Notes Mark
number
Reflection B1 1

B N e A e T

line

overlay provided

Q50.




Question | Answer Notes Mark
number
(a) 37 B1 (1)
Question | Answer Notes Mark
number
(b) 0.53, 3.05, 3.5, 5.3 B1 (1)
Q51.
Question | Answer Notes Mark
number
Correct pattern B1 (1)
Q52.
Question | Answer Mark
number
The only correct answerisA - x-—y (1)

B is not correct because 2x+x and 3y+4y has been calculated. the
signs have not been considered

C 1s not correct because 2+3+4xy has been calculated

D is not correct because 2x-x = 2 has been calculated




Q53.

Question | Answer Mark
number
The only correct answer is A 2a+Db (1)
B 1s not correct because the ‘b’ terms have been added
C 1s not correct because all terms have been calculated as one
D 1s not correct because 3b and a have been added
Q54.
Question | Answer Notes Mark
number
El 2a—2b B1 (1)
Accept: -2b + 2a
But ensure the signs are
correct
Question | Answer Notes Mark
number
b 11x + 5y M1 for 8x —4y or 3x +9y | (2)
or 11x or 5y
A1l cao
Question | Answer Notes Mark
number
e = B1 (1)

Q55.




Question | Answer Notes Mark
number
17:25 M1 evidence of an attempt to 2
add all of 10, 7. 18 and S to
16:45
A1 cao
Accept 5:25
Q56.
Question | Answer Mark
number
B  Cuboid (1)
Q57.
Question | Answer Notes Mark
number
(a) (4, -2) B1 (1)
Question | Answer Notes Mark
number
(b) (-3, 2) B1 (1)

Q58.




Question | Answer Mark
number
The only correct answer is C - hundredths (1)
A 1s not correct because the 3 represents ‘ones’
B is not correct because the 6 represents “tens’
D is not correct because the 3 represents ‘tenths’
Q509.
Question | Answer Mark
number
C - (1)
12
Q60.
Question | Answer Mark
number
The only correct answer is A — 127 000 1

B 15 not correct because 127 400 1s incorrect rounding down to the
mearest hundred

C 15 not correct because 127 500 1s rounded to the nearest hundred

D 1s not correct because 128 000 1s incorrectly rounded up to the
nearest thousand

Q61.




Question Answer Notes Mark
number
280 M1 for complete method 2
e.g.
112+2 X5
or 112 +2(=56) and '56"' X 5
Al cao
Q62.
Question | Answer Mark
number
The only correct answerisB - 3 km (1)
A 1s not correct because 0.3km = 300m
C 1s not correct because 30km = 30000m
D 1s not correct because 300km = 300000m
Q63.
Question | Answer Mark
number
The only correct answeris C - 20cm* (1)

- p A :
A 1s not correct because 18cm” 1s the area of just squares

- p I - 2
B 1s not correct because 19cm- 1s the area with 4x % sq = lem~

- 2 - -
D 1s not correct because 22cm- 1s the area counting %2 sq as whole

Q64.




Question
number

Answer

Mark

The only correct answeris C -8

A 15 not correct because 6 1s not the mean

B 15 not correct because 7mis the median

D 1s not correct because 10 1s the range (or mode)

Q65.
Question | Answer Notes Mark
number
a 12 B1 1
Question | Answer Notes Mark
number
b 11 B1 1
Q66.
Question | Answer Notes Mark
number
(a) 28 B1 (1)
Question | Answer Notes Mark
number
(b) 9 B1 (1)

Q67.




Question | Answer Mark
number
The only correct answer is C - 42 1
A 15 not correct because 48 — 6 # 26
B 1s not correct because 48 — 6 # 38
D 1s not correct because 48 — 6 # 60
Q68.
Question | Answer Mark
number
The only correct answeris B -8 1
A 15 not correct because 6 1s 14 subtract 2 then half
C 1s not correct because 9 1s 14 halved then add 2
D 1s not correct because 24 1s 14 subtract 2 then double
Q69.
Question | Answer Mark
number

The only correct answer is A — Kite
B 1s not correct because it 1s not a parallelogram
C 1s not correct because 1t 1s not a rectangle

D is not correct because it 1s not a trapezium

1)

Q70.




Question | Answer Mark
number
A Kite (1)
Q71.
Question | Answer Mark
number
C 30cm (1)
Q72.
Question | Answer Mark
number
The only correct answerisD - 30cm (1)
A 15 not correct because 25¢m i1s the total of only the given lengths
B 1s not correct because 26em incorrectly calculates missing lengths
C 1s not correct because 28cm only adds one missing length
Q73.
Question | Answer Mark
number
The only correct answeris C - 96g (1)

A 15 not correct because 83g 1s the median

B 1s not correct because 85g 1s the mean

D 1s not correct because 98¢ 1s the mode




Q74.

Question | Answer Mark
number
(1)
B 55"
Q75.
Question | Answer Mark
number
(1)
A 63°
Q76.
Question | Answer Mark
number
The only correct answer is B - Reflex 1

A 15 not correct because 1t 1s not acute
C 1s not correct because 1t 1s not a right angle

D 1s not correct because 1t 1s not obtuse

Q77.




Question | Answer Mark
number
The only correct answer is A - -4 (1)
B 1s not correct because -2 1s incorrect scale
C 1s not correct because 2 1s mcorrect use of scale and working with
positive numbers
D 1s not correct because 4 1s incorrectly working with positive
numbers
Q78.
Question | Answer Mark
number
The only correct answer is B - 19 1
A 15 not correct because 15 1s not prime
C 1s not correct because 36 1s not prime
D 1s not correct because 51 1s not prime
Q79.
Question | Answer Mark
number
A square number 1
B square number
C CORRECT ANSWER
D cube number

Q80.




Question | Answer Mark
number
The only correct answer is D (1)
A 1s not correct because the net folds to form a cube
B 1s not correct because the net folds to form a cube
C 1s not correct because the net folds to form a cube
Q81.
Question | Answer Mark
number
B 34 = (1)
Q82.
Question | Answer Mark
number
The only correct answer is C - 2802 (1)
A 1s not correct because 1928 1s subtracting
B 1s not correct because 2792 1s adding without carrymg
D 1s not correct because 6735 1s incorrect place value / lining up
Q83.
Question | Answer Notes Mark
number
a 36 Bl 1




Question | Answer Notes Mark
number
b |47 Bl 1
100
Question | Answer Notes Mark
number
c 5 Bl 1
Question | Answer Notes Mark
number
d 27 Bl 1
Q84.
Question | Answer Notes Mark
number
a — = — B2 for fully correct 2
e sl 7 M
22 & | 0.15 If not B2 then B1 for at least 3
29 oa © 0% correct (1gnoring incorrect)
responses
Question | Answer Notes Mark
number
b A Bl 1
20 accept any correct equivalent
) 3
fraction for o
Question | Answer Notes Mark
number
¢ 3= oe M1 for 1?9 or 2 ? or 2?6 seen 2

Al

_
accept 3 = g




Question | Answer Notes Mark
number
d 30 B1 1
Q85.
Question | Answer Mark
number
B 13 (1)
Q86.
Question | Answer Notes Mark
number
B2 fully correct grid (2)
X 3 8 6
or
6 18 a8 36 B1 for 4 correct answers
S 15 40 30

Q87.




Question | Answer Notes Mark
number
Correct pyramid M1 middle line totals 10 (accept 1 | 2
and 9)
Al
Note:
1 and 9 are acceptable i the nuddle
line as understanding that they must
total 10
Q88.
Question | Answer Notes Mark
number
(a) Line of symmetry B1 any one line of (1)
symmetry.
1
//:\\
vy
\ls /
\ A
1\
\ N /
\¢ ¢+ N
’ ! \
Question | Answer Notes Mark
number
(b) 5 Left and 3 up oe B2 for fully correct (2)
translation.
or
B1 for one correct.

Q89.




Question | Answer Mark
number
B 18 (1)
Q90.
Question | Answer Notes Mark
number
92 B1 1
Qo91.
Question | Answer Mark
number
B 48 (1)
Q92.
Question | Answer Notes Mark
number
1350 ¢ M1 for one correct conversion 2
or e.g.
1.35kg If using kg: 0.35(kg) or 0.25(kg)

If using g: 750(g) or 250(g)

Al cao

Q93.




Question | Answer Notes Mark
number
$8.23 M1 fully complete method 2
e.g.
$15—-[(2.35x2) +(0.69 x 3)]
15-4.70-2.07
Or
6.77 seen
Al
SCBI1 for fully correct use of 2
pallets and 2 brushes. Working
must be seen.
e.g.
15-[(2.35x2)+(0.69x2)] =8.92
OR
for fully correct use of 3 pallets
and 2 brushes. Working must be
seen.
e.g.
15-[(2.35x3)+(0.69x2)] =6.57
OR
for fully correct use of 3 pallets
and 3 brushes. Working must be
seen.
c.g.
15-[(2.35x3)+(0.69x3)] =5.88
Qo4.
Question | Answer Notes Mark
number
Correctly joined decimals to B2 all correctly joined (2)

fraction:

0.2->1/5
0.3 > 3/10
(0.5 2> ¥3)
06> 3/5
0.75 2> %

B1 for 2 or more correctly
joined

Do not count anything
joined to more than one




Q5.

Question | Answer Mark
number
The only correct answeris A - Monday (85) (1)
B is not correct because Tuesday = 75
C 1s not correct because Wednesday = 80
D is not correct because Thursday = 65
Q96.
Question | Answer Mark
number
D 7x + 4y (1)
Q97.
Question | Answer Notes Mark
number
a 115 Bl 1
Question | Answer Notes Mark
number
b No & y=25° Bl 1
accept:
180-115°(=65) AND 90-'65"
="25’

QO8.




Question | Answer Mark
number
A plotted point 1
B x=-3
C x=-3,y=-3
D CORRECT ANSWER
Q909.
Question | Answer Mark
number
B 12 cm’ 1
The only correct answer is B - 8
A 15 not correct because 6 1s the denominator
IC 15 not correct because 40 1s 5/6
D 15 not correct because 2881548 x 6
Q100.
Question | Answer Mark
number
D 400 (1)




